



On a Special (γ, β) - Metric and its Hypersurfaces

R. K. Pandey and Neetu Singh

Northern India Engineering College, Dr. Akhilesh Das Nagar, Chinhut, Lucknow, U.P., India

Corresponding author: drkpandey65@rediffmail.com, neetu77singh@gmail.com

ABSTRACT

In this paper we have considered a special (γ, β) – metric (1.2) and find some important tensors. We have also considered the hypersurface given by the equation $b(x) = \text{constant}$ with the special (γ, β) – metric (1.2).

Keywords : Finsler Space with (γ, β) – metric, cubic metric, one form metric, angular metric tensor, fundamental tensor and reciprocal tensor.

INTRODUCTION

In 1979 Matsumoto.M., [1] introduced the concept of cubic metric given by

$$L(x, y) = \{a_{ijk}(x)y^i y^j y^k\}^{1/3} \quad (1.1)$$

where $a_{ijk}(x)$ are the components of symmetric tensor field of $(0, 3)$ type which depends on the position x alone. In 2011 Pandey. T. N. and Chaubey. V.K.[9], introduced the concept of (γ, β) – metric

$$L = L(\gamma, \beta)$$

where γ is a cubic metric and $\beta = b_i y^i$ is a one form metric. We have also some research papers on (γ, β) – metric [2,7,9,10,11,12], whose studies have definitely contributed to the growth of Finsler geometry. In this paper we have introduced a special (γ, β) – metric given by

$$L^3 = C_1 \gamma^3 + 3C_2 \gamma^2 \beta + 3C_3 \gamma \beta^2 + C_4 \beta^3 \quad (1.2)$$

By taking this metric, we have calculated basic tensors such as $l_i, h_{ij}, g_{ij}, g^{ij}$ and some important theorems.

In 1995, Matsumoto. M., [6], had discussed the properties of a special hypersurface of Rander’s spaces with $b_i(x) = (\partial_i b)$ being the gradient of a scalar function $b(x)$. He had considered a hypersurface given by the equation $b(x) = \text{constant}$.

In this paper we have also used the hypersurface given by the equation $b(x) = \text{constant}$, of the Finsler space with a special (γ, β) – metric given by the equation (1.2).

2. The Finsler space with metric (1.2)

Let $F^n = (M^n, L)$ be an n –dimensional Finsler space

with (γ, β) – metric given by the equation (1.2), where $\gamma = \{a_{ijk}(x)y^i y^j y^k\}^{1/3}$ is a Cubic metric in M^n and $\beta = b_i(x)y^i$ is a 1 – form in M^n . The derivatives of $L(\gamma, \beta)$ with respect to γ and β are given by

$$L_\gamma = L^{-2} (C_1 \gamma^2 + 2C_2 \gamma \beta + C_3 \beta^2) \quad (2.1)$$

$$L_\beta = L^{-2} (C_2 \gamma^2 + 2C_3 \gamma \beta + C_4 \beta^2) \quad (2.2)$$

$$L_{\gamma\gamma} = 2L^{-2} (C_1 \gamma + C_2 \beta - LL^2 \gamma) \quad (2.3)$$

$$L_{\beta\beta} = 2L^{-2} (C_3 \gamma + C_4 \beta - LL^2 \beta) \quad (2.4)$$

$$L_{\gamma\beta} = 2L^{-2} (C_2 \gamma + C_3 \beta - LL_\gamma L_\beta) \quad (2.5)$$

Where

$$L_\gamma = \frac{\partial L}{\partial \gamma} \quad L_\beta = \frac{\partial L}{\partial \beta}$$

$$L_{\gamma\gamma} = \frac{\partial L_\gamma}{\partial \gamma} \quad L_{\beta\beta} = \frac{\partial L_\beta}{\partial \beta}$$

The normalized element of support $l_i = \hat{\partial}_i L$ is given by

$$l_i = \frac{L_\gamma}{\gamma^2} a_i + L_\beta b_i \quad (2.6)$$

The angular metric tensor $h_{ij} = L \hat{\partial}_i \hat{\partial}_j L$, is obtained as

$$h_{ij} = P_{-1} a_{ij} + P_0 b_i b_j + P_{-2} (a_i b_j + a_j b_i) + P_{-4} a_i a_j \quad (2.7)$$

Where $P_0 = LL_{\beta\beta} = 2L^{-1}(C_3\gamma + C_4\beta - LL^2\beta)$

$$P_{-1} = \frac{2LL_\gamma}{\gamma^2} = 2\gamma^{-2}L^{-1}(C_1\gamma^2 + 2C_2\gamma\beta + C_3\beta^2)$$

$$P_{-2} = \frac{LL_{\gamma\beta}}{\gamma^2} = 2\gamma^{-2}L^{-1}(C_2\gamma + C_3\beta - LL_\gamma L_\beta)$$

$$P_{-4} = \frac{L}{\gamma^4} \left(L_{\gamma\gamma} - 2\frac{L_\gamma}{\gamma} \right) = -2\gamma^{-5}L^{-1}(C_2\gamma\beta + C_3\beta^2 + \gamma LL_\gamma^2)$$

In equation (2.7) the subscripts of coefficients P_{-1} , P_0 , P_{-2} and P_{-4} are used to indicate respective degrees of homogeneity.

The reciprocal tensor g^{ij} of g_{ij} is given by

$$g^{ij} = \frac{a^{ij}}{P_{-1}} - \frac{d(q_{-2}\pi_{-1} - q_{-4}\tau_{-1})}{P_{-1}} a^i a^j - \frac{d(q_{-2}\tau - q_0\pi)}{P_{-1}} b^i b^j - \frac{d(q_0\pi_{-1} - q_{-2}\tau_{-1})}{P_{-1}} a^i b^j - \frac{d(q_{-4}\tau - q_{-2}\pi)}{P_{-1}} a^j b^i$$

Where

$$P_{-1} + q_{-4}\gamma^3 + q_{-2}\beta = \pi, \quad q_{-2}\gamma^3 + q_0\beta = \tau$$

$$q_{-4}\beta + q_{-2}b^2 = \pi_{-1}, \quad P_{-1} + q_{-2}\beta + q_0b^2 = \tau_{-1}$$

$$d = \frac{1}{\tau\pi_{-1} - \pi\tau_{-1}}$$

$$g^{ij} = \frac{a^{ij}}{P_{-1}} - S'_0 b^i b^j - S'_1 (a^i b^j + a^j b^i) - S'_2 a^i a^j \quad (2.10)$$

Where

$$d = \frac{1}{\left\{ q_0 q_{-4} - (q_{-2})^2 \right\} (\beta^2 - b^2 \gamma^3) - P_{-1} (P_{-1} + 2q_{-2}\beta + q_0 b^2 + q_{-4}\gamma^3)}$$

$$S'_0 = \frac{d(q_{-2}\tau - q_0\pi)}{P_{-1}} = \frac{d \left[\left\{ (q_{-2})^2 - q_0 q_{-4} \right\} \gamma^3 - q_0 P_{-1} \right]}{P_{-1}}$$

$$S'_1 = \frac{d(q_0\pi_{-1} - q_{-2}\tau_{-1})}{P_{-1}} = \frac{d(q_{-4}\tau - q_{-2}\pi)}{P_{-1}} = \frac{d \left[\left\{ q_0 q_{-4} - (q_{-2})^2 \right\} \beta - P_{-1} q_{-2} \right]}{P_{-1}}$$

$$S'_2 = \frac{d(q_{-2}\pi_{-1} - q_{-4}\tau_{-1})}{P_{-1}} = \frac{d \left[\left\{ (q_{-2})^2 - q_0 q_{-4} \right\} b^2 - q_{-4} P_{-1} \right]}{P_{-1}}$$

The fundamental tensor $g_{ij} = h_{ij} + l_i l_j$ is given by

$$g_{ij} = P_{-1} a_{ij} + q_0 b_i b_j + q_{-2} (a_i b_j + a_j b_i) + q_{-4} a_i a_j \quad (2.8)$$

If

$$q_0 = P_0 + L^2\beta = 2L^{-1} \left(C_3\gamma + C_4\beta - \frac{1}{2} LL^2\beta \right)$$

$$q_{-2} = P_{-2} + \frac{L_\gamma L_\beta}{\gamma^2} = 2\gamma^{-2} L^{-1} \left(C_2\gamma + C_3\beta - \frac{1}{2} LL_\gamma L_\beta \right)$$

$$q_{-4} = P_{-4} + \frac{L^2\gamma}{\gamma^4} = -\gamma^{-5} L^{-1} (2C_2\gamma\beta + 2C_3\beta^2 + \gamma LL_\gamma^2)$$

(2.9)

We know that $g^{hj} g_{ij} = \delta_i^h$

Theorem (2.1) The angular metric tensor h_{ij} , the fundamental tensor g_{ij} and its reciprocal tensor g^{ij} of (γ, β) -metric are given by equations (2.7), (2.8) and (2.10) respectively.

3. The Hypersurfaces $F^{(n-1)}(c)$

In this section, we have taken the special (γ, β) - metric with a gradient $b_i(x) = \partial_i b$ for a scalar function $b(x)$ and a hypersurface $F^{n-1}(c)$ which is given by the equation $b(x) = c$ (constant).

Since the parametric equation of $F^{n-1}(c)$ is $x^i = x^i(u^\alpha)$, hence

$(\partial / \partial u^\alpha)b(x(u)) = 0 = b_i(x)X_\alpha^i$, where $b_i(x)$ are covariant components of a normal vector field of $F^{n-1}(c)$

Therefore, along the $F^{n-1}(c)$, we have

$$b_i X_\alpha^i = 0 \quad \text{and} \quad b_i y^i = 0 \tag{3.1}$$

In general, the induced metric

$$L(u, v) = C_1 \{ a_{\alpha\beta\gamma}(u) v^\alpha v^\beta v^\gamma \} \tag{3.2}$$

where

$$a_{\alpha\beta\gamma}(u) = a_{ijk}(x(u)) X_\alpha^i X_\beta^j X_\gamma^k$$

$$X_\alpha^i = \frac{\partial x^i}{\partial u^\alpha}$$

By using equation (3.1) and (2.10), we have

$$g^{ij} b_i b_j = b^2 \left(\frac{1}{P_{-1}} - S_0' b^2 \right)$$

where

$$b^2 = a^{ij} b_i b_j$$

Hence, we get

$$b_i = b \sqrt{\frac{1}{P_{-1}} - b^2 S_0'} N_i \tag{3.3}$$

Hence from (2.10) and (3.3) we have

$$b^i = a^{ij} b_j = \frac{b}{\sqrt{\frac{1}{P_{-1}} - b^2 S_0'}} N^i + \left(\frac{b^2 S_1'}{\frac{1}{P_{-1}} - b^2 S_0'} \right) a^i \tag{3.4}$$

Theorem (3.1). Let F^n be a Finsler space with (γ, β) - metric (1.2), $b_i(x) = \partial_i b(x)$ and $F^{n-1}(c)$ be a hypersurface of F^n given by $b(x) = c$ (constant). If b_i is a non- zero field, then the induced metric of $F^{n-1}(c)$ is given by (3.2) and relations (3.3) and (3.4) hold.

REFERENCES

Hashiguchi, M., Hojo, S. and Matsumoto, M., :On some special (α, β) -metric, Korean Math. Soc., **10** (1973), 17-26.

Kropina, V. K., :On projective Finsler Spaces with a metric of some special form Nauch Doklady VyasSkolay, Fiz. Mat. Nauki 1959., No. **2** (1960), 38-42.

Kropina, V. K., :Projective two- dimensional Finsler space with special metric (Russian), Trudy Sem. Vektor. Tenzor. Anal., **11** (1961), 277-292.

Matsumoto, M. and Numata, S., : On Finsler spaces with cubic metric, Tensor N. S., **33** (1979), 153-162.

Matsumoto, M., : On C-reducible Finsler space, Tensor, N. S., **24** (1972), 29-37.

Matsumoto, M., :The induced and intrinsic Finsler connection of a hypersurface and Finslerian projective geometry, J. Math. Kyoto Univ., **25** (1985), 107- 144.

Matsumoto, M., :Theory of Finsler Spaces with (α, β) - Metric, J. Math. Kyoto Univ., **29** (1989), 17-25.

Pandey, T. N., Chaubey, V. K. and Prasad, B. N., :Scalar Curvature of Two - dimensional Cubic Finsler Spaces, Jour. International Acad of Phys. Sciences., **12** (2008), 127-137.

Pandey, T. N., Chaubey, V. K.:Theory of Finsler Spaces with (γ, β) - Metrics, bulletin of the Transilvania University of Barsova., Vol 4(53), No 2 - 2011.

Render, G., : Homogenous Finsler Spaces and the flag-wise positively curved condition, Phys., Rev. (2) **59** (1941), 195-199.

Shukla, Suresh K., Pandey, P. N., :Lagrange Spaces with (γ, β) - Metric, department of Mathematic University of Allahabad, geometry, Vol. 2013, Article Id 106393, 7 pages, 2013.

Wagner, V. V., :On generalized Berwald spaces, C. R. Dokl. Acad. Sci., URSS, N> S., **39** (1943), 3-5.

Wagner, V. V., :Two- dimensional space with the metric defined by a cubic differential form, (Russian and English), Abh. Tscherny, Staatuniv. Saratow., **1** (1938), 29-40.

Wegener, J. M., :Theory of Finsler Spaces with (λ, β) -metric, Untersuchung uber Finslerschen Raume, Lotos Prag., **84** (1936), 4-7.

Wegener, J. M., :Untersuchung der zwei- und dreidimensionalen Finslerschen Raum mit der Grundform $L = (a_{ijk} x'^i x'^k x'^l)^{(1/3)}$, Akad. Wetensch. Proc., **38**(1935), 949-955.

